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General Instructions :

Questions paper is divided into 5 sections.

It has total 19 questions.
Section A — 1 Question no. 1 to 1
Section B - 2 Questions no. 2 to 3
Section C - 5 Questions no. 4 to 8
Section D - 9 Questions no. 9 to 17
Section E - 2 Questions no. 18 to 19

Attempt questions as per specific instructions.

Write question no. in answer book before attempting it.

Q1= 3397:
ST F¥797 == GUST: Ti<T |
ST F9797 79537 (19) FoT: Tl=T |

QGue: ‘F’ - - FITEEI 1

&g ‘@’ -2 - JITIEIT 2 - 3
&Ug: ‘7’— 5 - FIITEIT 4 - 8
@Ug: ‘g’- 9 FIIGEI 9 - 17
TUg: ‘T~ 2 - FvIaEI 18 — 19
faRreHagar. Jo7T: TETET: |

FRYIEAHT TG G8 FITIH JI7GET AGH T |
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Qe ‘&

AU TSA-FTTITH 10 37ET:
afda st

Unseen Reading Comprehension

FYIARGd TS IfSed TG Fhdd 3T |
fretarfiga memer sl ggeRt feU T Syl o IT HERd H I |
Read the following passage and answer the given questions in Sanskrit.
EAAAUTH: I ¥ foMe WTIe|  STaNesiges  Tqe-amed  ugdl
JMETIHAT ARAIITMNh: ST | TRAET AT eh- TN - ST H - -HTIhAET
Sh:  ITHIG — 81, [OhHANNTE | WRAHEHRU S1.  [IshAdIIS-Ha caed
ALFFART 1969 TH Y WRAI-STANG-SE-UH-ETS (ISRO) FATIAT el |
I TSI AT AiieRr: fava wrae ufaserd fearfiomy sqerumesrd
AT Hied | IS I SHBIH  STANGAHIGINH HhaAdYash hal- |
AT ARTHAT Reme afiormisT Iq 2023 a1 oY G- Jaiftd ==—5aH
JhAdIYEsh J4Ad JHH_ | favd YRd Yom: gFN: T <rgdH =gHd: gleuiygd
FEITIH | WIRATT: STt a9l Sear1aT: JRrE-E: 9 Afed | HRaE ARTiehT:
R TITTeh i Tidar: &t |
BRI
(31) THISH ITA | (hadl IIgTH)

Th 915 H ST T | (hered & 59A)

Answer in one word. (Only two questions) 2x1=2
(i)  SFAN-STIHLH-HRIHER eh: h: I ?
(i) o AEEHDR feartem qer: af= ?
(iii) WRAEERRY 1969 TH TN HEI TATHT FHal ?
(31) YuUiETRA I | (had THEIH)
Ul IR | I ST | (Shad &l e )
Answer in a complete sentence. (Only two questions) 2x2=4
() o famme wicad Semfreh: HEa TTEwIRAT ST ?
(i) TSI AiehT: foh Paf=d ?
(iii) TS T&ITUd 5 $F 3T=Dq ?
3 P.T.O.
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(%)

I AR Fd I9Yh AMdeh HEhaA for@d |

39 3G oh ToT¢ UGk SMveh H&eha H IR |

Write a suitable title for this passage in Sanskrit. Ix1=1
fréemgare Sty W focan for@d | (e gwaem)

freegER 3fud I g fafan | (et @ 9)

Choose the appropriate answer and write as directed. 3x1=3
() Sufeer: fearfiem srmrueR demr: wf || oom afwr’ 3fd

(ii)

(iii)

(iv)

o cC o
TShaTIGET hug TohH ?

(A) ety
(B) STl<ehT:
(C) T

(D) IITEUHRA

‘TireTE A AR fatey sErameR g gt |
3 o forrvoragy ?

(A) gIwE:

(B) dSATh:

(C) ¥

(D) W&

‘TIva IRd YUW: <N T IgAE IgHE: giruiyd wEey || 3T
‘Tur’ 3fd ueer yatug Ry 2

(A) ¥dH
(B) =5aM

©) fawa

(D) dHgHE:

“MRaeT ATTIERT: ARdReeRHT fowd nifdar: af 1”7 o= S’
3fd hguee fshamag forq 2

(A) fow

(B) Tifdr:

(C) ==

(D) YRaH




Tue: ‘@
TEATCHeR-REH 10 37gT:
AT T
Writing Skills

2.  WIAl/HIAl TAHHT GHG: JHMWAd gRd | T dfvrsed  uiEe /auiEd
N o o h N e N
HEEFAATI T i AR TEasgehaHl HgrEad e foaEd |
M9 7T FHIE TEG_ 1 T Wold S@T | Heh! ToRINATHT 1 JUH HLd §T AW
H CU 7T Hehdl shi HETIAT © HeIFaTE] 394 B &l Th 07 TARaT | 5

You have seen the new building of the Parliament last week. Write a

letter to your friend who lives in Kurukshetra explaining its features
with the help of the clues given in the box.

T
Traftey, gy, TugyaTs, A RN, ehraldide-is:,
FAGA-SAT:, AP, I, HUGH, NG, TEIGRY M,

<

THGRE, Yae O, 318y, g, |fwd, THarf-ad:, ey |

YAt (OR)

[N

TR AT Fd SHISI-ScHa FRSHE STaraas SaH=R Jid T
T T |

A foeme™ & Il & U shigi3cHa & IReE & v 39e foene™ &
TUHTETE i T 9 fAfey |

Write a letter to the Principal of your school for organizing a sports

festival for the students of your school.

o haN (o c~ o M
T, "eiedn:, fawa:, foame, aemHE, Afarsses foem:, e

[N

fomm, SEn:, T8, STRISHY, Shisicaaw, Ydd, shiedl MY,
Iy, WUSW, WaaW, ANRhR  fIsE:,  g=yarer:,  STavdehl,
STRITERISTET |

11-49 5 P.T.O.




3. (%) YcudzAHl gl sdifaiad fawem sifushcr d¥ehda s=ee faed |

Yed qedt i ggEdr 9 ffifiga fowa W geha 0 =g fafau |

Write a passage on the topic given below with the help of the given
facts in Sanskrit. 5

fow: — S Syfiee Tl TR |

S-S soIaal: AT, Tad: gal: T, &N Siee
QM:, T dIoHY, SFEEl, R AFEe 9 fawm:, g gk
FEUTET:, eIyt giqurg, Jfasst, JufIsal, Iuag: |

YAt (OR)

(@) ARGy Hu=H USRIl H&hdd TG $Hed |
frfefga § & formgl aTar aTeRIl 1 T%ha H ITATE SHIfT |

Translate any five of the following sentences into Sanskrit. 5x1=5

(i) I T 3+ &l 7 |

Many birds are on the tree.

(i) Tred 5| ¥ faeme™ S ? |
Mohan goes to school by bus.

(i) ThST o TR AR i § |
Rakesh is surrounded by friends.

(iv) THST 319+ T o1 I&aeh <an & |
Ramesh gives the book to his friend.

(v) TS S0 & 2Ue T 2 |

The king punishes the criminal.

(vi) 38 OF SiaH ARy |
He should speak the truth.

(vii) T @t forst 3 3= | Ty TR |
All the friends sung a song in the garden today.

11-49 6



Qvug: ar
HATIIh-SATRIUTH 15 JgT:

AT xh SHThIUT
Applied Grammar

4.  AGARGIETRY WTgaueH G- afF=se a1 heal fa@d | (had T )

feafeRaa are § t@ifera el <kl |- s1eran af-fa=se st fafgn |
CEREIEREG)

Write the sandhi form or disjoin the sandhi of the underlined words in

the following sentences. (Only three questions) 3x1=3

F)  AISTATE: TdThIY AT TN |
@) e gauiE aerfiEy |

(
(
(1) oTea g s ygfeRm S |
(o) o1 o= |

5.  {@TgaueHT Yehfadcd! g3y faws a1 a3 aea forad | (shadt oM

{@Ifhd Ual % Johld AR YT i ASh AYA] fawwh w3 I IR
fafgu | (haar @ I99)

Select the appropriate answer by joining or disjoining the base element

and the suffix element in the underlined words. (Only three questions) 3xI1=3

(i)  Toh o ferg ! TR T |
(A) T +a+3Iq
(B) ¥+ d+73d
(C) I+ +&d

(D) 9+ T + duq.

11-49 7 P.T.O.



(i) <CTded Wihed YIS Toe@l T haod: |
(A) o+ &d
(B) @ + dq

(C) T=g + dAq
(D) &+ 9Iq

(i) GAWHIETY g1 91 + & Hafd |
(A) dTeAdT
(B) dIfaem
(C) dTeIcaq
(D) ddcd:

(iv) 7 gafagmuiiiaftg smfa fefsaefea a9y o7 + 2 |
(A) It
(B) M
(C) ™Y
(D) 3Eal

6. TSN Yl A HeIue: Fream i+ [ for@d | (Shad Jeer)
Hoau1 ¥ fou MU aqfaa o1 ug) 9 ik wH Wt At TAfee | (shadt diF SR)
Write the sentence after filling in the blanks with appropriate

indeclinable words given in the box. (Only three questions) 3x1=3
(%) WHENS %: A ?
(@) weda IHLITE |
(M) ! S |
(") s@_ Y SHEgR HiAm: |
HSTT
o, vid, @, @9 |

11-49 8
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hIsdeh Tgasreey Y= favfte T IRy FRee TH @&d | (shadt T9=9M)
Shisaeh U fou 7 weg) # I fawfe 1 s o ik wam qot i |

(haet <fiT I )

Fill in the blanks after applying the appropriate case-endings in the

words given in the brackets. (Only three questions) 3x1=3
(%) fo= fomm awet 7 wald | (gaa)

(@) S TSlaa-HTstd | (Y9)

() TN STeHE TG IEEd | (THYE)

(') = o7 e e Trueh: | (T=)

FifaTRaqamey W@itgaueHl T faug 998 a1 ot fa@d | (had Jeeem)

efIRaa arell | {@Tihd 9gl o dYfad fGug A€ 918 It fAfau |
(St = )

Write the vigraha (the descriptive sentence) or the compound of the

underlined words of the following sentences. (Only three questions) 3x1=3

() g g AT Ren e SuEfi e |
(A) FwTRIET:
(B) JnTiremm
(C) FmrrEnm
(D) FrEfRiEn

9 P.T.O.



(i)  hlcaT aofiem gadRe o e fodw |
(A) TSI T
(B) ey fo=m
(C) a9 faem

(D) o9 fis:

(ifi) G ! 990 o E@H US|
(A) qEyUeiisn
(B) HEYUSiish
(C)  FEAYUSiH,
(D) HEyrslish

(iv) ¥ i Seaed StUiieen 9T e Juafd & |
(A) 9fd ufd 74|
(B) WM™ U
(C) wrE °E ufd
(D) ¥r&H ufd

11-49 10
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g vus: o
(i) ufearasreq s 25 HZT:
gfsa-eraaied

Reading Comprehension

FYIfIRET TS IfSean agramia™ T &hd- ITRd |
frafcRaa TemsT S Jgeht 39 W ITYTNG T9H1 o I T&ehd H ST |

Read the following passage and answer the following questions in
Sanskrit. 5

aa | ggrte | fafeqafeqeres sidiqaesmers q AeuHeuesesTdfed | shad
T feria warfored aml AeAyHad, | STIRUMHIGSHT QR AEHNG:  $oId:

foeqionfydieg | MivetcH ey ST HEIca T eI hed =iid  Had

o

Eea dqe Tl | A 9 I ATESay e -HATY s aTd gig: |

a9 qevHeaEg! vy |

34T

(31) U I | (hadl TegE)
T Weg H I T | (had &f )

Answer in one word. (Only two questions) 2x==1
() =g %: T ?
(i) AEHmG: higer: wald ?
(iii) TRy SreamEs: & AREfd 2
(3T) qufaTeRH I | (had TRHgIH)
QU1 T § IR QI | (hael g1 T )

Answer in a complete sentence. (Only two questions) 2x1=2
(i) FIEAuNd q: higy Hafd ?
(i) TS 1 AU Ffeuriear ?

(ifi) §fg: HI PG WA ?

11 P.T.O.
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FeaTH ITa | (Shad TeHgaY)
frgemgar 3w G | (Faa @ w9)

Answer as directed. (Only two questions)

() ‘glg 3fd Fguee Hhamag fey ?

(i) ‘ma:’ 3 v foctmug e 6 Sy 2
(i) ‘Feer sk foeyomge foasrerug fog 2

FifiRad qa afdcan qerdTiar, T, F%hd- 3 |

Frfeiitgd 91 1 dgeht 38 W TG TT o It T%hd H ST, |

2x1=2

Read the following poetry and answer the questions based on them in
Sanskrit.

e fovatafa farder f sy |
TRl TEafeumeff Hicd: TU SRa-gRrs: ||

ThUCA 3T | (hadl TRHgIH)

T W5 H I ST | (K9 31 =)

Answer in one word. (Only two questions)
(i) IUlE: &: 3R ?

(i) AfeEq v ferchian: &: o1feq 2

(iil) <hlcq: ®EF R 3 2

UIETRA 3T | (had T

EUEICR RIS S LN CT K RAREE )

Answer in a complete sentence. (Only two questions)
(i)  orc|: <higer ferdtem yug 2

(i) hIcH: e U D] ?

(iil) ohlcq: shigar: Ifed ?

12

2x==1

2x1=2



(3) Feergame ST | (e T9gan)
freRIgaR IR €T | (et & 99)

Answer as directed. (Only two questions) 2x1=2
() wue 3fd fohamaes shqug fopm 2

(i) TR 3fd Jew wrme wened e foed |

(iii) ‘oTea’ 3 dewd fommomae el foh TgEy 2

11. AIfIRad ATeany gfdcal agramRae M §&hd S |
FfcTRad AT %l TGeht 38 T TG TRH1 o 3T T&hd H GIIT |

Read the following part of a drama and answer the questions based on
them in Sanskrit. 5

ga: (v, @A) SAfasraad: et
TSIMN ¥a: hemiEeRs ? (faf)
3T JRIGEGIHR 3 Jg¥: A |
(FfeEggc) T 91 doe RRET Yo |

ST dIThl  : STISHT ST: |

e ;9. | S |

e-gd] :  Ug acd | (AaqcEy Taical e ) fasean F
A PRI § gRa: |

eI - 9 | gAIsi drEcie | (3cg TEaT) 3T’ T had HEdissac
TR, HAGHHNEEIACT ool 9 THYgHIERd | Jd |
TR o @YUy |

9T

(1) Uhded I | (hadd I¥gTH)
T 63 H I AT | (had 31 T
Answer in one word. (Only two questions) 2x==
(i) TRE yomget: S e 2
(i) Ty TaIcdl HEAT: FARY: Iid: Ja: ?
(iil) SAfoRTaad: &: Afed ?

11-49 13 P.T.O.




(3T) YuUiETRA I | (had TG
ol et | ST AN | (Sheled g1 99 )

Answer in a complete sentence. (Only two questions) 2x1=2
(i) 3T&gdl Ay Taical b F=aard ?

(i) @ ISAM gseal Afarerasy fob faafa 2

(iil) & hIGRH TR THHGATEIT ?

(3) Feogam S | (had T3gan)
fordemgam e Afe | (Fae @ ve)

Answer as directed. (Only two questions) 2x1=2
(1) ‘oo’ 3k TshATIEET Hheue fohr ?

(i) ‘A Y Toh ggET TYFH ?
(if) ‘AT 3id foRmoraee foaersrug fob geray 2

12. AHIARIIATHRY @Igauar YT THMHI Hed — (had TqeedH) |
freaferfaa aret o W@ifehd Ugi & aR W y3a fmior HifSe | (Faar Ir g9)
Form questions on the basis of underlined words in the following
sentences. (Only four questions) 4x1=4

(%) Ul hieq: fardier Tug |

(@) I AYAT FEHY: ToF geaafihad: |

() AN HUY B |

()  oradiE-a: Qeaf fadmemera & |
(3) OT: TE=HTHT ITEY o3y Herresi=d |

13. IIYTRgas vy 3= for@q |

frafaRad v @1 3T fafEn |
Write the prose order of the following verse. 3

Fitlg fg Gfifgmiemar sHee: |

N : N o ° o e
ATRIUZHATY TIRI~<hdHaIH ||

11-49 14



14. UfReas e Hrame SEhauTs fa@d |
FfeTiad vaieh 1 WiaTe §%ha W # TafEu |
Write the explanation of the following verse in Sanskrit. 3

FHUISTRIE AT Bely e |
HT FHBARGH: AT d TFISTIHRAN ||

AIAT (OR)

TorernsHanedd’ 3fd e 91 dgdu sehavrsa foreq |

Qus: a
(i) FEFRA-ATRATIZTHER AHTA: TR 10 37ZT:
TEha-ATeed AR SFAerd &1 qamma Ui

General Introduction of Sanskrit-Literature and History

15.  refaRgayeamm I faseuw: faaan foea | (et Jv=m)
frafefaa gei & 3 fou e fashedi @ @ giw | (et 69 a9)

Choose the answer from the given options of the following

questions. (Only three questions) 3x1=3

(i) ‘Jgaiay 3id HeEreheasd Rl &: ?
(A) TUTvE: (B) hIfaiqrE:
(C) wfa: (D)  HWHIY:

(i) TIAIMERRISA hid &Ml i ?
(A) TR (B) UG

(C) Hagw (D) forrfas:

11-49 15 P.T.O.
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(iii)

(iv)

o o
[IcgUIEy hIea&y M Tohy ?

(A)

()

o N o
[AhHTE I {dH

RENEELR

TSRO 3 higeT shreawfed ?

(A)

(C)

TRy

~

siifgehm,

(B)

(D)

(B)

(D)

Ufergiereny

Ugh[dH

~

I 3TN YEq-Taeheds: o fo@d | (hael Je=aH)
1 % IR feu e famedt & @ g | (Shaa diF TH)

Choose the answer from the given options. (Only three questions)

‘Frerad)’ i wATFTR WA ®: 2

(i)

(i1)

(iii)

(iv)

(A)

(C)

g4l JrEagaEn: Ih: & ?

(A)

()

(A)

()

TR =Ry, 3f0 e AW AW Ry 2

(A)

(C)

g
EIMEES

JdH~dch:

HIGIESE

qiged:

~

e

{THTIUTH

~

THTRIThToTH

16

(B)

(D)

(B)

(D)

Ieagrelihr 3 IFYhIead WRAT &: ?

(B)

(D)

(B)

(D)

fg:
qrged:

4

FHegUehq;:
ach:

ANIIUIGTH:

HIH:

AFTHTIUTH

LTHTIUTh AT

3x1=3
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Jedfaeheds: Yfaay It ot for@d | (had Ieagseay)
o ~N M o oo N
feu v fompedt @ @ 3fua I g fiiflaw | (et IR 999)

Choose appropriate answer from the given options. (Only four questions)

(1)

(i1)

(iii)

(iv)

(v)

‘TR 3id HIAR TRAT &: ?

(A) Tgh: (B)
(C) <hIfASTH: (D)

ATERWA: & T 3EAq 2
(A) HTREcaeTETH, (B)

(C) HIEARMTEH (D)

TS TRIYRATETG e hy 2

(A) ggaH (B)

(C) THdETTH (D)

“Tosprrasty’ sfa e TEw: &®: 2
(A) i (B)

(C) g (D)

‘Fuivyry’ i A W &: 2
(A) 9Rfa: (B)

(C) ¥td: (D)

17

EREDCEE

olen{VIRMAH

THITEY

~

4x1=4

P.T.O.
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(3)

W us: T

BaISARRUNE: 10 3T
Bg AR AEHR Uiwg
Metres and Figures of Speech
FIARGATAHTY I for@d | (Shaet To=m) 5
Frforfga gt & s ST | (Faa i e )
Answer the following questions. (Only three questions) 3x1=3

(i) ‘Tclieh 753 T[E: 39 T AgUeaHq 3 el BgH: ALy Hfed ?

~

(ii) FE-AdAhIS<H: IcTeUHSY foad |

~

(ifi) T ey wie-fasi i w2
(iv) [uefd’ S=af& gid=rr sfd qurl: waf=d ?
ARG YeAhTSHTY T Bee: YT a8 I forga |
(I JeIgaH)
frfafaa vaie afwal § ©¢ gt M fafaw (Faa g1 aea)

Write the name of the metre in the following lines of
verses. (Only two questions) 2x1=2

()  STcgaREn fefyr adre
(i) wiermarer iR dhemgom

(ii) Tl fawa: af< o= fea=: |

FYIARGATHT ITUNT for@d | (haed T 5
Fr=ferfga gt & s ST | (Faa i g9 )

Answer the following questions. (Only three questions) 3x1=3

()  IUHAI-ITARE A9 ferEd |

(i) STIITATRIE TohY 3G for@d |
(i) TATAERE A& fofEd |
(iv) ‘____ 3I9Ql 9 SYHHIHRL 30 FEITagie aE ?

18
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(3T) ARGy TArhdfgFay TIHIAgRE W forEd | (had Te-gaH)

frAfeIiaa TarehdfRal | T AR 1 AW fafae | (hadt g1 94)
Write the figure of speech in the following lines of

verses. (Only two questions) 2x1=2
(i) JIaEIIT FHAHRITHTE SAlehd A=A |
(i) g frda aem: @ 7 e |

(iil) d T AU gFE qH9 faq 1 |

19
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